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P 39 Suppose Jane plans to purchase a $1.43 million apartment in Castle
' Peak with a fixed-rate mortgage of (at most) 70% of the property’s
Consider the mortgage plan in Example 6.1. Instead of a fixed monthly
P.42 repayment, Jane chooses a fixed loan period of 10 years. How much
does she need to pay each month to clear the debt in that time?
Py =%$42,000
r=1i02) /52
n=>52x11=1572
A=1%399.32
for f=1,..., n
if f=1,...,52 ,
P.63 4 o p — i
P,=F
if £=56,60,64,...
Pr=PF_1x (] +r)—A4
otherwise,
P{ ZP{_]_ X (1 —|—i’)
| B,=0
P. 86 35%. Suppose the transaction days are April 1 and April 4, the state-

ments are issued on the 28® of each month. If Betty does not make



Py =$9.250+$7,500
Ao = P{) % 4%

-'365} — 359%

r = 10363 /365 = 0.000958904

F; =$9,250 ( +r)27+$7 500 x (14r)*

P.88 ) Pl (PD ) % ( 1+ ?’)# days 1n the first month after the first statement [ -

4; = MIN(MAX (B, x 4%,$50), F;)
_ (Pf—l _z‘if—l) % (1 4 ;,)# days between the (¢ —1)* and /™ month

L PHZO
(13.1)
i

Fy=5%51,500

i12) =30%

r=i12/12

P=Rx(l+7)
P.120 { 4,=0 > —n and 4;.  (18.1)

Ay = MIN(MAX(P,_; x 4%,$50),Pr_;)

Pp=PF1x (1 +'V) -4y

Pn:O

(0, = $50,000
n =289

P.122 < - b — .

4, = Output from Model (18.1)

Or =01 x(1+7%) -4,

\ On=0

P.138 the annual interest rate, say 712} as an example. Then. i x df can be seen as the
' interest per month r = i12) /12 where dr is the scaling factor 1/12. The random



